Самостоятельная работа.

I вариант

1. Упростите выражение:

            а)  а3· а2 · а4         
     б)  р8׃ р4            
     в)  (х5) 3                   г)   (3х)5

2. Представьте выражение в виде степени:

            а)       а5 · а2       б)  (х4)³ ׃ х²        

                         а³

3.     Вычислите:

         27³ · 34                                         

            95

II вариант

1. Упростите выражение:

            а)  а3· а5 · а              б)  у13׃ у5                  в)  (х3) 4                   г)   (2х)6

2. Представьте выражение в виде степени:

            а)       а4 · а3       б)  (m5)2 ׃ m4        

                         а5

3.     Вычислите:

                 25² · 515     

                  1256
              

